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General Instructions :
Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Sections A, B, C, D and E.

In Section A — Questions no. 1 to 16 are Multiple Choice type questions. Each
question carries 1 mark.

In Section B — Questions no. 17 to 21 are Very Short Answer type questions.
Each question carries 2 marks.

In Section C - Questions no. 22 to 28 are Short Answer type questions. Each
question carries 3 marks.

In Section D — Questions no. 29 and 30 are case study based questions. Each
question carries 4 marks.

In Section E — Questions no. 31 to 33 are Long Answer type questions. Each
question carries 5 marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the Sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

You may use the following values of physical constants wherever necessary :
c=3x10% m/s
h =663 x 10734 Js
e=16x10"19C
Up=4nx 107" Tm A~
gy = 8854 x 10712 C2 N1 m~2

1

47580

Mass of electron (m,) = 9-1 x 10731 kg

=9x10° N m?2 C2

Mass of neutron = 1-675 x 10727 kg

Mass of proton = 1-673 X 1027 kg

023

Avogadro’s number = 6-:023 x 10“° per gram mole

Boltzmann constant = 1-38 x 10723 JK 1

13-55/3/3 3 P.T.O.
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TUE &®
1. 2 uF 9uiie i qfgshisti Py do1 Py, W AT 25 V AT — 25 V fawa 2 | afger
P, W 3™ B :
(A) 0-02mC (B) 0-1 mC
(C) 0.1uC (D) 1uC

2. ol WIe &1 famg P, € fog Py, @ o AT 01 @, A QI foi=g ol forera &t
dfeuad | fog Py R Py R fawa sae: ~5 VIR + 5 VE | 8 A T 6
fagatl Py 3R Py W Wi &1 7Tids S 3 7, 1 T W fopan T % 2
(A) -16x10718J (B) 16 x 10718 J
(C) I (D) 0-8 x10°18 J

3. @ H TN FIR TR o fohell 2:0 cm T WU W, S y-378T & TSI @l
T B, 9HTcH® y-I3M | 50 A 910 JaTfed &l Wl & | 36 @g (YRdY o 9m)
%WW(Sm,4m,O)WW%’>{%:

¥

50A

(A)  (0-12nT) ]
(B) —-(0-10nT) j
(C)  —-(0-24nT) k
D) (0-24nT) k
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SECTION A

1. The plates P; and P, of a 2 pF capacitor are at potentials 25 Vand - 25V
respectively. The charge on plate P; will be :

(A) 0-02mC (B) 0-1 mC
(©)  01uC (D) 1uC

2. A proton is taken from point P; to point Py, both located in an electric
field. The potentials at points P; and Py are — 5 V and + 5 V respectively.
Assuming that kinetic energies of the proton at points P; and P, are zero,
the work done on the proton is :

(A) -16x10718g (B) 1-6x10718J
(C)  Zero (D) 0-8x 10718 J
3. A 2.0 cm segment of wire, carrying 5.0 A current in positive y-direction

lies along y-axis, as shown in the figure. The magnetic field at a point
(3 m, 4 m, 0) due to this segment (part of a circuit) is :

A (0.12nD) )
(B) -(0-10nT) )
(C) -(0-240T) k

(D) (0-24nT) k

13-55/3/3 5 P.T.O.
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4. fmfafed 9 @ SF-a1 gfagresh 9aqed § 2
A) NSt
(B) Hifemm
(C) IR FANES
(D) Hifsaw FANES

5.  hI3 GNIETE! IR Urel fdeht grechi el M 2, freht s T &
E # i 7wt i 38 R Foifa 2 f5 sow a@ B % sifreraad 3 1
T A B % oiEed & % U 45° T gia w0 § Bear T s fee
fepedd 8 2
(A) -03MB (B) 0-3MB
(C) -1.7MB (D) 1.7MB

6. Toreht goaradl Sieedl v = (157 V) sin ot &1 39 YT Jg-=sh § 3N9d

@TIT :

(A) 157V
157

B — V

(B) 72

(C) 785V

(D) 100 V

7. Tl vt uftferen @ fomm hifSe fSreeht Trams 7, gued-he SFaha A qe
HUi ! T a2 | 39 GRHTITeR < TSehad | gig Bt Al
(A) (AR ATH A G
(B) [ @ i AW g A
(C) [H g AR AHHH &
(D) 1R ATHI H HH &
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4, Which of the following is a diamagnetic substance ?
(A)  Gadolinium
(B)  Sodium
(C)  Copper chloride
(D)  Sodium chloride

%
5. A current carrying circular loop of magnetic moment M is suspended in
%
a vertical plane in an external magnetic field B such that its plane is
%
normal to B . The work done in rotating this loop by 45° about an axis

9
perpendicular to B is closest to :

(A) -0-3MB (B) 0.3MB
(C) -17MB (D) 1.7MB
6. The average value of the alternating voltage v = (157 V) sin wt over its

first half-cycle is :

(A) 157V
157
B —V
J2
(C) 1785V
(D) 100V
7. Consider a solenoid of length / and area of cross-section A with fixed

number of turns. The self-inductance of the solenoid will increase if :
(A) both !/ and A are increased
(B) [lis decreased and A is increased

(C) lisincreased and A is decreased

(D) both ! and A are decreased

13-55/3/3 7 P.T.O.
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8. I GHAA faga-grachi a0 +x fgun ® a1y § T4 ot I g | fopelt fomiw &om
W gaehT forga-am E, +y feem = Sfcw 2 | SE &0 SERI Jreehid & B
fopm foam & sgfew & 2

(A)  + zTeem & srgfee qen E % @ e i

B) T % sfwaw B % @ wen A
(®) +z%mésa3%mamﬁ)ésmawﬁqﬁ
(D) —zﬁsﬂésagﬁmamﬁ)%wawﬁqﬁ

9. AN 97 Y TfqHE Hig T R ks UeHl HUl fhdl d&F AR T ITHA
Fd g | ¥ it form § o1rd § o fRe sroet femsti ot SYohfid #d 8 |

e o IWEA hl THepedn g do1 Uehl w0 o IWEH hl THepean gt =

1T B :

A L B) 2
1

(C) 1 (D) 4

10. TS ot K % el soiaeia & Geg 2o ai o qureed 4 3 | Afe soiag 6
it ol g THT L A1, 1 g aTeed gl S

A
A -
(A) N
A
(B) 5
C) V2
D) 2xr
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8. A plane electromagnetic wave is travelling in air in + x direction. At a
%
particular moment, its electric field E is along + y direction. At that

%
moment, the magnetic field B is along :
%
(A)  + z direction and in phase with E
%
(B) -z direction and in phase with E
%
(C)  + z direction and out of phase with E

%
(D) -z direction and out of phase with E

9. A proton and an alpha particle having equal velocities approach a target
nucleus. They come momentarily to rest and then reverse their
directions. The ratio of the distance of closest approach of the proton to
that of the alpha particle will be :

1

(A) B) 2

1

©) (D) 4

10. The wavelength of matter wave associated with an electron of kinetic
energy K is A. If the kinetic energy of the electron is doubled, the
associated wavelength becomes :

A
A A
(A) 5
A
® 3
C) V2
D) 2xr

13-55/3/3 9 P.T.O.
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11. TISSISH WY o SR HisA H i3 Soided n = 2 T ¥ n = 1 T I GspAY]
HAT B | 3Heh JIGRAY A H :
(A)  87-5% ! dfg grft
(B)  87-5% i SH! Bt
(C)  43-75% i lg Bt
(D)  43-75% h! Ht Bl

12.  Si o HIgH J9EASt awd o @Y R T 7 | Afafek soegi= ol gk B o
foTe sTTareh St 8 o
(A)  001eV (B) 0-05eV
(C)  072eV (D) 11eV

J97 G&IT 18 G 16 3¥FHIT (A) 3K FRU (R) PR & 7 & | & %97 [T 10 § —
74 U ®l SYHIT (A) 9T TR H1 BRI (R) GRT 37 1631 TR & | §& I 415
13w 717 Figt (A), (B), (C) 3 (D) F & g7a v /

(A)  AMMHAT (A) 3T SR (R) T T&l & W HR (R), AR (A) I
g ST HLdT 2 |

(B)  AfYHA (A) 3T SR (R) gHI T&l &, T SR (R), AT (A) H
& SURET gt il g |

(C) AR (A) HEl 8, =g R (R) TAd 7 |

(D) A (A) Tetd & a1 el (R) oY TeTd B |

18. 37y (A): Tt redaTcts U, ST SUS & TSl hl ol GASThdT SIS
o AT Sl ol | HH Bl 7 |

FRI (R) : foreh 1elarTetes ® @Al ol X GAISTehd] dUS o dieh HUL BIdl

2|
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11. An electron makes a transition from n = 2 level to n = 1 level in the Bohr

model of a hydrogen atom. Its period of revolution :

(A)
(B)
(C)
(D)

increases by 87-5%
decreases by 87-5%
increases by 43:75%
decreases by 43-75%

12. Si is doped with a pentavalent element. The energy required to set the

additional electron free is about :

(A)
(C)

0:01 eV (B) 0-05eV
0-72 eV (D) 1-1eV

Questions number 13 to 16 are Assertion (A) and Reason (R) type questions. Two

statements are given — one labelled Assertion (A) and the other labelled Reason

(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.

(A)

(B)

(C)

(D)

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false and Reason (R) is also false.

13. Assertion (A) : In a semiconductor, the electrons in the conduction band

have lesser energy than those in the valence band.

Reason (R): Donor energy level is just above the valence band in a

13-55/3/3

semiconductor.

11 P.T.O.
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16. 37747 (A) : His A Wil Tohelt gd H AN A T e &l 1l & |

FRU(R): o o 91 3T g Sl o Uda-Th 999 & |

Qs @

17. (%) Tl ae ¥ gk soiagil o fasnfa et @ 1 ared B 2 I8 RISy
fip fort =Te® % wfdy @ R = gl o<k TohaT ST bl 7,

nezr A

TET TcATehl o T HHT 7Y 7 | 2

AT

(@) forelt sfieke |g &1 INUY @ TiWW | 98 I I HIC J9 39
qiae o AeeHHIet ¥ Hig 9N Yalled Ta) sl 8 | 2

18. Torell Wliciia gugRieh shi AL &A1 24 8 | HHIA HHREISH H, 38 g1 oidl
o o< 61 gl 150 cm 8 | TSI @F <l Hishd g FTd HINT | 2
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14. Assertion (A) : Photoelectric effect demonstrates the particle nature of
light.

Reason (R):  Photoelectric current is proportional to frequency of
incident radiation.

15. Assertion (A) : A proton and an electron enter a uniform magnetic field
%
B with the same momentum 3 such that 3 is
%
perpendicular to B . They describe circular paths of the

same radius.

Reason (R): In a magnetic field, orbital radius r is equal to P

qB
16. Assertion (A) : A convex lens, when immersed in a liquid, disappears.

Reason (R): The refractive indices of material of the lens and the
liquid are equal.

SECTION B

17. (a) What is meant by ‘relaxation time’ of free electrons in a conductor ?

Show that the resistance of a conductor can be expressed by

R = _ml , where symbols have their usual meanings. 2

nezr A
OR

(b) Draw the circuit diagram of a Wheatstone bridge. Obtain the

condition when no current flows through the galvanometer in it. 2
18. The magnifying power of an astronomical telescope is 24. In normal

adjustment, distance between its two lenses is 150 cm. Find the focal

length of the objective lens. 2

13-55/3/3 13 P.T.O.
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gad (TUrRt) sAfaertor Ted fohd shad 2 2 38 YR o SITdehtyl Te+ ! ITed i
$T 31d A 2

e (B 2:3 eV) W 600 nm TUICER h1 ThII TG HidT & | o
ST BT YehITITeh-3cHS BN ? 98 T8 el qUIeEd 1 8 S oIkl bl
JehTfRTeh-3cas it 2 (he = 1240 eV. nm #Q)

T e fereft 31g Si foreeat ® ufa == et 5 x 1028 qam] € | 39T HIeH
A 1 1 ppm TgdT g0 ThaT TR B | Bl 3T SAFHl bl HTgdl Tiehield
Hife, foam T 8 n, = 15 x 1016 m=3 | 1 ¥ Wifea fohed n-JR &1 3
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e 1

S fopet AR & T W 1:0 V fovara oy fohen Srar 8, af 389 16 A H
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(@) 9/ 9T

(M)  3fEq fasnf<r @ (1)

(AR ® Gk SISl ol T&AT T9cd 90 x 1028 m=3 3)

1 SATRH (TR — e, TEAA m) e BTRSSH WA § AR T ARG
5 + % g0 § B T B | heliT HIvi W L % uel B ek fgyge et
0, o fou afey w0 8 =ioe sgeqa IR | oo grashia s1qura 58 wgd 8 2
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FAFE GRed o G IT=qUel W A 78 svear 2 |
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What is a sustained or stable interference pattern ? What are the

conditions for obtaining such an interference pattern ?

Light of wavelength 600 nm is incident on potassium (work function
2.3 eV). Will photoemission of electrons occur ? What is the longest

wavelength that will cause photoemission of electrons ?

(Take he = 1240 eV. nm)

Suppose a pure Si crystal has 5 x 1028 atoms m™=>. It is doped by 1 ppm
concentration of boron. Calculate the concentration of holes and

electrons, given that n; = 1-5 x 1016 m=3. Is the doped crystal n-type or
p-type ?

SECTION C

A current of 1.6 A flows through a wire when a potential difference of
1.0 V is applied across it. The length and cross-sectional area of the wire

are 1.0 m and 1.0 x 10—7 m?2 respectively. Calculate :

(a) Electric field across the wire

(b) Current density

(c) Average relaxation time (1)

(Number density of free electrons in the wire is 9.0 x 1028 m—3)

An electron (charge — e, mass m) is revolving around a nucleus, in a
hydrogen atom, in a circle of radius r. Derive an expression, in vector

form, for the magnetic dipole moment, EL in terms of its orbital angular

- : : :
momentum L . What is gyromagnetic ratio ?

Prove that induced charge depends on the net change in the magnetic
flux and not on the time interval of the flux change.
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25. faata o fereft fora-grehia a1 & faga &= =1 39 yer foam mn 2
E = (6:3 N/C) [cos (15 rad/m) y + (4'5 x 108 rad/s) t]
(%) o <l qureesd i s W fifse |
(@) 39 T o FEIh & 1 AT FT 8 2

(T) 39 I o I & o fofu e foafau | 3
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m(D) = 2.014102 u

my; = 1.007825 u

m_ = 1.008665 u

28. (%) Tordt p-n @iy SR 1 V - I Afenaiie g & & fou ufwy oma
gifgr | () ufcRes s, IR (i) wakkhes s\ TV - 1
STHATEATOTeh o H&T AL hl T H SATEIT HIT | 3

AT

(@) ot SUg ARGl o MR W fhefl (1) fogaudl, (i) Ad=mas R
(iii) =Teleh o o= faveq hifsu | 3
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The electric field in an electromagnetic wave in vacuum is given by :

%
E = (6:3 N/C) [cos (1-5 rad/m) y + (45 x 108 rad/s) t] i

(a) Find the wavelength and frequency of the wave.
(b) What is the amplitude of the magnetic field of the wave ?

(c) Write an expression for the magnetic field of this wave. 3

State Bohr’s second postulate for his theory of hydrogen atom. Prove that
the radius of Bohr’s orbit of a hydrogen atom is directly proportional to

n2, where n is the principal quantum number. 3

(a) Define atomic mass unit (u).

(b) Calculate the energy required to separate a deuteron into its

constituent parts (a proton and a neutron). Given : 3
m(D) = 2.014102 u
myy = 1.007825 u

m_ = 1-008665 u

(a) Draw the circuit diagrams for obtaining the V — I characteristics of
a p-n junction diode. Explain briefly the salient features of the

V — I characteristics in (i) forward biasing, and (ii) reverse biasing. 3

OR

(b) On the basis of energy band diagrams, distinguish between (i) an

insulator, (i1) a semiconductor, and (iii) a conductor. 3

13-55/3/3 17 P.T.O.
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THI0T AT ST I

T G&IT 29 TUT 30 JFT I ITERT J97 & | [FEfcriagad 3g=eq] #1 98 & 7 T
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29.

NG H AR TEEH ITeieh Iigehlsn o ar Sig, fod aft § ufgeret & =
2:0 cm gl T THH JURA B, x-3& F TArEq Faedd R e E | v
ufgert o1 foera fava <ifera 8 | ufgemrsti & forelt Siie & st fogga &= wehemm
? a1 ufgehreti o STfirenaed § |

-0V -50V 50V +150V 20V +200V -100V —400V l&

I II 11T
() ufzwed % feE S % fore foreg & E*,Waaﬁsr%? I
A I B) 1I
(C) III (b)) 1V

(i)  Toreft Sciereia =t SIS IV 1 ufgehtsti o sftw U geh foham o 3 | 9% 1
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(B) Trud =met & —1 % argfest T Sy
(©) 1 % sHfew caf@ am
(D) -1 % afew caf@ &

(iii) A <fifoe fret oft g hi arff 9fgem 9 x = 0 m W o T 8, W
fana v, 3 | 79 3 afgshieti o = de & fhelt g (0<x <2 em) W

v VRl 38 TR oI TR ST gehat § 1
(A) V=Vy+ax B) V=V;y+ax2
(C) V=Vy+axl? D) V=Vy+ax??

I&T o hiIS GHTcHR 31T FUTcHeh Hadieh 3 |
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SECTION D
Case Study Based Questions

Questions number 29 and 30 are case study based questions. Read the following
paragraphs and answer the questions that follow.

29. The figure shows four pairs of parallel identical conducting plates,
separated by the same distance 2-0 cm and arranged perpendicular to
x-axis. The electric potential of each plate is mentioned. The electric field
between a pair of plates is uniform and normal to the plates.

-0V -50V -50V +150V 20V 4200V -100V —400V Hf

I II IT1
- A
i) For which pair of the plates is the electric field E along i ? 1
A) 1 (B) II
(C) III (D) IV

(i1)  An electron is released midway between the plates of pair IV. It
will : 1

(A) move along 1 at constant speed
(B) move along —1 at constant speed
(C) accelerate along i

(D) accelerate along .

(iii) Let V( be the potential at the left plate of any set, taken to be at
x = 0 m. Then potential V at any point (0 < x < 2 cm) between the

plates of that set can be expressed as : 1
(A) V=Vy+ax (B) V=Vj+ax?
(C) V=Vy+axl? D) V=Vy+ax3?2

where o is a constant, positive or negative.

13-55/3/3 19 P.T.O.
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(iv) (%) TW <ifoe gfgersti o Set I, 11, 111 3R IV & st faga &= &

g SR By, By, Eg 3R E, 8 | 79 1
(A) E{>Eo;>E3>E, (B) E3>E/ >E;>E,
(C) E,>E3>Ey>E, (D) Ey>E3>E,>E,;

AT

(@) forelt soiaeld o1 O I <1 orff ufge @ «ite & srff dfger
3R vafuq foram mam 8 | T8 Stk ufgem W form 9 o1 @ 2
o =1 9 =8 vyafua foran e o1 98 & o

(e/m =1.76 x 101! C/kg wifom) 1
(A) 1.3 x10%m/s (B) 2.6 x10% m/s
(C) 6-5x 10% m/s (D) 5.2x107 m/s

30. foada 3t =afaestor feheam uftEead & S s oy wedt 8 | foads wEh
gftereT g S weptst et < hivn (3MNT) T AT 7, Taich ThIST oh AT
T qUN o TISE § Teh 91 U7 92 o491 & | SRl o T4 hH-H-hH faadq
HIA S qUN BT BT ARS8 | Aq: fada fomr safaeor & @ e g,
Seifeh safentur fomT faads & &1 &1 Tehdr B |

foreht eumesfl vered # @ forfat 2, 9 s < TS 2 pm ® 991 H o=
1 gt 6 um B, @ | TG 450 nm % THATH TR HT AFaad, HATIH
R T T TYH SAfqahul R foada Ued yrea grar 2 |

(1)  foadd Ued o A & Hod MY ok HR - . Al B

st bl T Bt 1
(A) 2 B) 3
(C) 4 (D) 6

(i) ol < = i gt &1 @E w@d g At Bt & =er @ T =G,
aql S 9ol ST faehLor o ISt <hl T Bt 1
A 1 B) 2
C) 3 (D) 4
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(iv)
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(a) Let Eq, Ey, E5 and E, be the magnitudes of the electric field

between the pairs of plates, I, II, III and IV respectively.
Then :

(A) E{>Ey;>E3>E, (B) Eg>E 4> E;>E,
(C) E > E3>E, > Eq (D) Ey>Eg>E, > E;

OR

(b)  An electron is projected from the right plate of set I directly
towards its left plate. It just comes to rest at the plate. The
speed with which it was projected is about :

(Take (e/m) =1.76 x 1011 C/kg)
(A) 1.3 x 105 m/s (B) 2.6 x 108 m/s
(C) 6-5x10%m/s (D) 5.2 x 10" m/s

Diffraction and interference are closely related phenomena that occur

together. Diffraction is the phenomenon of bending of light around the

edges of the obstacle, while interference is the combination of waves that

results in a new wave pattern. In order to get interference, there must be

at least two waves that are diffracting. So while diffraction can occur

without interference, interference cannot occur without diffraction.

Two slits of width 2 um each in an opaque material are separated by a

distance of 6 um. Monochromatic light of wavelength 450 nm is incident

normally on the slits. One finds a combined interference and diffraction

pattern on the screen.

(1)

(i1)

13-55/3/3

The number of peaks of the interference fringes formed within the
central peak of the envelope of the diffraction pattern will be :

(A) 2 B) 3
C) 4 (D) 6

The number of peaks of the interference formed if the slit width is
doubled while keeping the distance between the slits same will be :

A 1 (B) 2
C) 3 (D) 4

1
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31. (=)
(@)
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(%) AC 450 nm % TIF W 680 nm TUICET & TR BT Th 373
RT3 T fopam STt 8, df foadd Sed o 3TeRur & ey 3y

T g ATl SAfdeRtr & ISt < T git 1
(A) 2 B) 4
(C) 6 D) 9
rera

(@) 39 YT 1A | afvfd uehet fardl grr gehmer & foada w fomm
ST | ygen Ffess o/ =wior 0 W firem, 98 i 2 1
(A) sin—1(0-12) (B) sin—1(0-225)
(C) sin—1(0-32) (D) sin—1(0-45)

farfai 5 %mﬁ@qﬂi\?ﬁq@ﬁ? 1 m W Ao % HRUT S o]

=ehictl Tohetl <Al T @ 1
(A) 2 B) 3
©) 6 D) 10

QU T

(i) Treht au=m afgem garfe, freeht ufgweti & fiw w8 wagd
HIEIH &, <hl GTHAT o foly sa/eh ITea shifoTe |

(i) 02 m = & forelt anfeass @raet Mt &t 6 pC 3ma feam mn
2139 WA & (1) T8 3R (ii) g W fawg gma A | 5
HAYAT

i) B R & o gaet =t Mol @id W+ Q 19y &g 7 |
=Y o YHI 1 STANT sk @I o (ohdl fog (1) S @A o i
7, U1 (i) S @ ¥ 9 7, W fogga &3 & fow =emes oo
HITT |

(i) I8 3T fob THM AN T9cd (6) o (W TTcAeh Ulgen! 3TaT
53 o TohUT | fogra & foRet e wfie & faga &3 &1 @
T BT 3 | 5
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(iii) (a) If instead of 450 nm light, another light of wavelength
680 nm is used, number of peaks of the interference formed
in the central peak of the envelope of the diffraction pattern

will be : 1
(A) 2 (B) 4
(C) 6 D) 9

OR

(b)  Consider the diffraction of light by a single slit described in
this case study. The first minimum falls at an angle 6 equal

to : 1

(A) sin~1(0-12) (B) sin—1(0.225)

(C) sin—1(0-32) (D) sin—1(0-45)

(iv) The number of bright fringes formed due to interference on 1 m of
screen placed at %m away from the slits is : 1
(A) 2 B) 3
(C) 6 (D) 10
SECTION E

31. (a) () Obtain the expression for the capacitance of a parallel plate
capacitor with a dielectric medium between its plates.

(i1) A charge of 6 uC is given to a hollow metallic sphere of radius
0-2 m. Find the potential at (i) the surface and (ii) the centre
of the sphere. 5

OR
(b) (1) A charge + Q is placed on a thin conducting spherical shell of
radius R. Use Gauss’s theorem to derive an expression for the

electric field at a point lying (i) inside and (ii) outside the shell.

(ii) Show that the electric field for same charge density (o) is
twice in case of a conducting plate or surface than in a

nonconducting sheet. 5
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(1) Terelt Neamefier i am gomfear & = qred B 2 37 hRehl
1 Iea@ HIfTT T o 77 faf et 2 |

(2) TRl Tieaaniie &t aflig G &, I fhEl Jialg R &1
ST HTh (0 — V) TRER & dieedie § uRafda feam mn
31w e (o_g)wasawﬁaﬁ
giEfdd i o U STeawes gfaiy &1 a9, R 3IW G &
RS ICEAIE I

5 Q Tferig 6t forelt Fueelt | ToH aTel Jraeh Foied H 909 <h

1Y 39 YR gig Bl B :

b =(2.0t3 +5.0t2 + 6.0 t) mWb
t=2s T PUScAl H UNG G <l GRATT 1 HAT |

AT

N H qIT ITIIEA-HIE &ThA A i Fhel TFARRR Fusal! i
TRt v A o § fordf) ThHEE gk & O gl R
T g | Tt off T W pueett # I fa.ar. 9d (emf) % fow
S e hINTT, |

3l HHAAT TAT Hehral TR AR Ly 3R Ly 319 gl ohl HUTd
T@ﬁ@%ﬂﬁ%%lLlﬁ'{Lgﬁ f;lwq|\79h*-l-‘elzlcm3ﬁ'{
100 cm & | 3 UWN H1 FAAA Wehed Uiehferd HIfT |

(n2 = 10 wifo)

forelt fraepR TS5 & 319ee ol g+ aTefl Sehrer foRtor &1 99
amfEd HIfT 3 A, i 3R e & g # fo=e™ o1 (5) & forw
ST Yo ShIfTT | &Y Jcltehl o 319+ T 27 8 | 31Taae shivr
o a1y ot v o fa=or i gerie & o o it |
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32. (a)

(b)
33. (a)
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(i)

(i1)

1)

(ii)

(1)
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(1) What is meant by current sensitivity of a galvanometer ?

Mention the factors on which it depends.

(2) A galvanometer of resistance G is converted into a
voltmeter of range (0 — V) by using a resistance R. Find
the resistance, in terms of R and G, required to convert it

into a voltmeter of range (0 — %) .

The magnetic flux through a coil of resistance 5 Q increases

with time as :
b =(2-0t3 +5.0t2 + 6.0t) mWb

Find the magnitude of induced current through the coil at

t=2s.
OR

A rectangular coil of N turns and area of cross-section A is
rotated at a steady angular speed ® in a uniform magnetic
field. Obtain an expression for the emf induced in the coil at

any instant of time.

Two coplanar and concentric circular loops L; and Ly are
placed coaxially with their centres coinciding. The radii of Ly

and Lo are 1 cm and 100 cm respectively. Calculate the

mutual inductance of the loops. (Take ©2 = 10)

Trace the path of a ray of light showing refraction through a
triangular prism and hence obtain an expression for angle of
deviation (3) in terms of A, i and e, where symbols have their
usual meanings. Draw a graph showing the variation of angle

of deviation with the angle of incidence.
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(i) RG H s Th13 fomur fort) uresf 2g 8 W 9dd = o diad
T 3Gk Teh Hedeh 9 45° o <hiV X 3TUd hdl 3 | fria fomm
%A AB % STICY THA It B | G T TYAHIh 1 T |

AT

@) () q FA-UEg I Hdi @ Fere areft @y aon, e
TS T A ‘@’ AT AR o 7, % [T y; = a cos ot 3R
¥y = a cos (ot + ¢) G F&EUa fhT T F | T&f ¢ A1 aam o =
HARR 2 | I GHT Jepre aat Fohel fomg T s1eamiaor it 2 | 39
forg ot wftort disran o T =tk wed iR |

i) I o fgfed v |, S« o foien 9 Fevee arell a foedft we
%aﬁ@ﬁm(i)%ﬁ(ii)%%qwmﬁa?ﬁ%,aﬁsq
fergatl W disrdreti 1 3TguTa 7 HY | 5
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(b)
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(i1)

(1)

(ii)
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In the figure, a ray of light is incident on a transparent liquid
contained in a thin glass box at an angle of 45° with its one

face. The emergent ray passes along the face AB. Find the

refractive index of the liquid. 5
A 45° D
B C
OR

The displacement of two light waves, each of amplitude ‘a’ and
frequency o, emanating from two coherent sources of light,
are given by y; = a cos ot and y, = a cos (ot + ¢). ¢ is the
phase difference between the two waves. These light waves
superpose at a point. Obtain the expression for the resultant

intensity at that point.

In Young’s double slit experiment, find the ratio of intensities
at two points on a screen when waves emanating from two

slits reaching these points have path differences (i) A and

A
A 5
(i 75
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